DU MPhil PhD in Education

Topic:- DU_J18_MPHIL_EDU

1) Directional hypothesis in research is stated only when:

i) Past research or theory suggests that the findings may go in a particular direction.
ii) Outcome of the research is easily predictable.

iii) There is direct relation between variables.

g H feumers ufvaed- saa a4 < Smet oa:

i) frow Ty a1 Rrgiat & uan 9 7 Frepd oo fadi e & & g 81

i) STEYT & IROTH BT A ITEE / AT S Fehal g

iii) ==Y & g ey FEw g

[Question ID = 30835]

1. iand i / i 3R ii [Option ID = 63332]

2. i and iii / i 3 iii [Option ID = 63334]

3. i and iii / ii 3R iii [Option ID = 63333]

4. All are correct / &+t @&t & [Option ID = 63335]

Correct Answer :-
« i and iii / i 3fi% iii [Option ID = 63334]

2) 98% Confidence Interval for the mean can be interpreted as which of the following?

i) If all possible samples are taken and Confidence Intervals calculated, 98% of those intervals would include the true population mean
somewhere in their interval.

ii) You can be 98% confident that the mean of the selected sample includes the population mean.

AT & o1 98% fAYTH 3IGRTA (Confidence Interval) &7 3Y g & & &4 anf@a frar o woar 82

i) afg gaft Jwifaa =amexf fore ome ofiv faym ST 6t o= &1 9e |, At 98% SiTRTEl § aRefa® TaTdl ©T1 At 39 3avTd | el sn|

ii) 3TT 98% 3MMYF & Hdd § [ Tul~a =urest &1 aren smardt & =@ren &t wwifea A gu g |

[Question ID = 30819]

1. Both i and ii are correct / i 31X ii &1 W&l & [Option ID = 63270]

2. Neither i nor ii is correct. / i 3fR =1 &1 ii §€! &1 [Option ID = 63271]
3. Only ii / %ad ii [Option ID = 63269]

4, Only i / %44 i [Option ID = 63268]

Correct Answer :-
« Both i and ii are correct / i 3/ ii I el € [Option ID = 63270]

3) \%Tich of the following statements is inappropriate about case studies? / &Y el (case study) F an # Fufeafeaa § @ o= s sy shE
e 87
[Question ID = 30834]

1. Subjective bias is a constant threat to objective data gathering and analysis / CUESIEGT 'CIG"I:QE', e 2= LGFEL 3R fawey & f(’TE! T ol "l %
[Option ID = 63330]

2. Collecting data from multiple sources is crucial / Tt Hial ¥ &0 Tha &1 Hedqyl & [Option ID = 63331]

3. These usually follow a longitudinal approach, showing developments over a period of time / T AHIR W Ud &Hailf JUNTH HT UTe B %, o fos Ty
3afy 7 fd=a &1 <9l & [Option ID = 63329]

4, They probe deeply and analyze interactions between the factors that explain the status / @ TTg¥Ts & Wid &3d & 3R Ul &t e &3 910 RSl &
TRWReE faR fauef &1 favewo @52 8 [Option ID = 63328]

Correct Answer :-
» These usually follow a longitudinal approach, showing developments over a period of time / T IR R UH S{f[,?{ilf JUNTH &1 UeH & %, o f&s
9y 3faft § fasry &1 22ian & [Option ID = 63329]

4) Which of the following statements is not appropriate as per the medical model of disability
e & Rifee Aisa & sgaR FafafEs § | o9 o1 oY= Sugs =8 82

[Question ID = 30861]

1. Tt depicts disabled children and youth as sick, incompetent and incomplete beings. / 8 3f&H s=1 3T garaff &1 fHR, 316 3R 37t wiitrgf & ¥ o
a1 81 [Option ID = 63438)
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2. Tt depicts disabled children and youth as those in need of care, kindness and training from professionals / T8 fa& T s= 3R garaif &1 39 9 § guiidr
2 o 2w, Soedr 3R 99ad § uflienr 1 aragaesdl 2 | [Option ID = 63439]

3. It dominates the perceptions of both professional and naive people regarding the problems faced by children and youth with disabilities / Te fa@ar a=i
3R garaif gRT A1 $ o arelt guwrst &, UNaT ok fET, S die & @l &t yRonaff U= g1dt § | [Option ID = 63437]

4, Tt is the most relevant model for inclusion / T8 THTAYA & ol Ta9 U ATed g1 [Option ID = 63436]

Correct Answer :-
« It is the most relevant model for inclusion / 98 THEYH & folu Ta9 URfe Higd 21 [Option ID = 63436]

5) Which of the following statements is incorrect with reference to the construction of a good questionnaire?

% = uyTaelt ¥ fmfor & v # fFafafaa & @ <= 91 $yY9 T9d £2
[Question ID = 30823]

1. Using multiple items to measure abstract constructs / 3 a3 H1 HYH & 77 H5 Hal &1 IUGNT HAT [Option ID = 63286]
2. Using natural and familiar language / WIgd@ 3R OifEd HTHT &1 SUTT $HA1 [Option ID = 63285]

3. Using leading or loaded questions / 3/0ft a1 Yifva usfl &1 IUahT &1 [Option 1D = 63287]

4, Writing items in clear, precise and relatively short forms / Ha! &1, TI¥, ld 3R sUafda sic wui § foRaT [Option ID = 63284]

Correct Answer :-
« Using leading or loaded questions / 3907 T7 HTRE Wil &1 IUTRT ST [Option ID = 63287]

6) Which of the following statements is incorrect with respect to skewness of a normal distribution?

AT faavor # faaaeaar & ey # e & @ o 91 $9= Ted 82
[Question ID = 30833]

1. A distribution is negatively skewed, or skewed to the left, if the scores fall towards the higher side of the scale and there are very few low scores / 371X
WR, Wd & S oR W ¢ 3R 39 fGawu & F Wik &1 9@ 9gd &9 8, 79 A TeREs E9 4 fawgae g6 a1 &8 3R B W fawdas gem
[Option ID = 63326]

2. A distribution is said to be skewed when mean and median are at different points in the distribution. / U@ faavu & fawnae et oral & wie faavo nides
R Trer faeror # fafirm fegaf 9 81 [Option ID = 63327]

3. A distribution is said to be positively skewed when scores are accumulated at the high end of the scale (Right hand side) / e HU BN (2T 3%?)‘51? W l
EF W U IR0 & goRIee U § fAwHae S81 S € [Option ID = 63325]

4, In a normal distribution, mean equals median / T& JT=] fdaxor &, #7en, el & S@R GiaT & [Option ID = 63324)

Correct Answer :-
« A distribution is said to be positively skewed when scores are accumulated at the high end of the scale (Right hand side) / ¥Fd U3 B (U 3R)TT
H 81 IR U fIoRu &1 eRHE ¥4 4§ fa9Had %81 @dl 8 [Option ID = 63325]

7) Which of the following best describes the ‘learned helplessness’?
Frafafaa ¥ & o9 a1 fieew Jdt 18 srer™ar (learned helplessness) &1 Yad 3E31 quiH &l 87

[Question ID = 30858]

1. A student is motivated to avoid failure / Te faenelf fatperar & &= & foru 9T & [Option ID = 63424]

2. A student has learned that he or she has no control over the outcome of events / T faadf = dtar 8 & wenaft & 7ot = 39 o1 Faw ad 8
[Option ID = 63425]

3. A student has learned to achieve goals by investing effort / Te faemdf 1 wary Faw &3 d@edf &1 g1fird &3 diaT & [Option ID = 63426]

4, A student tries again after failing to achieve a particular goal the first time / Tg¢l ¥R U fa2iy @eg uift & fawd 9 & are e faendf fbr @t swar g
[Option ID = 63427]

Correct Answer :-
+ A student has learned that he or she has no control over the outcome of events /| Tdh fammedt = % & geait & wdiel U IHaT Ebbf'aF IBLEL Hﬁ?%
[Option ID = 63425]

8) Which of the following best describes the difference between classical and operant conditioning?

frrafaf@a & & #1791 9ui7 IRH (classical) 3R fFFATWAd (operant) 3F e & &9 3iaT WY HIAT 27

[Question ID = 30856]

1. In classical conditioning, the consequences of behavior have no role in learning / WY 3G9 H, S9dER & IR &1 Tr@ & &g YHE 781 &
[Option ID = 63418]

2. In classical conditioning, a learning situation occurs more often because of immediate reinforcement. / AT A H, GLG H?Elr't’l:l & HRU HrEd B
fRufa sraer 81t 81 [Option ID = 63416]

3. In operant conditioning, responses are elicited by stimuli / fFamgd s@e H, wfafthar Stivie! & arey § Ufvd gt € [Option ID = 63417)

4, In operant conditioning, the reward strengthens the bond between stimuli and response / fFOTIT 3o H, REHR, ool 3R Ufdfhar & de- &I
Uolgd &l & [Option ID = 63419]
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Correct Answer :-
« In classical conditioning, the consequences of behavior have no role in learning / STRER 3G H, SIa8R & RO &1 Wi § 15 YHET T8 &
[Option ID = 63418]

9) Which of the following is counted under Specific Learning Disability?
FrafafEa & @ o= 9 fafte ¥a= Ft faewier (Specific Learning Disability) & @gd ffr=m wirar 82

[Question ID = 30850]

1. ADHD / U 8 Ud SI(ADHD) [Option ID = 63395]

2. Mental retardation / ATFTYe® Hadl [Option ID = 63392]

3. Dysgraphia / f&saftsar(Dysgraphia) [Option ID = 63394]
4, Autism / 3MTfcwH (Autism) [Option ID = 63393]

Correct Answer :-
« Dysgraphia / f&Fuftsan(Dysgraphia) [Option ID = 63394]

10) Which of the following is not in tandem with the basic principles of Universal Design for Learning (UDL)?

Prafafea & @ o1 w1 gfrada e vR affr g@ve) F g Risid ¥ saeu 8 82
[Question ID = 30853]

1. UDL is not associated with broader context of learning / T, €. Ud. Y@= & amgs ey T §[ST g3 78! @ [Option ID = 63405)

2. UDL is directly associated with inclusive principles. / 4, &1, Ud. SHEN figidl @ @8 9 ¥ ST §31 € [Option ID = 63406]

3. Accessibility aspects are integral part of UDL / 3{f3RTear Uge 4,81, Ud. &1 ffiy fgwn & [Option ID = 63404]

4. Considering only specific individuals for learning is not a part of principles of UDL / ad fafRIF &afdaal ®1 §a™ & fog & & 3@, g, S, va. & el
&1 fesa1 21 & [Option ID = 63407]

Correct Answer :-
+ Considering only specific individuals for learning is not a part of principles of UDL / @5dd fafRy sufaaal & drar & fow eom d v, g, 81 wel. &
fRrgidl &1 fawan 72  [Option ID = 63407]

11) Which of the following points is consistent with the social model of disability?
Fafafea & @ o fig Aeaima & amnfore Afsa & oFu 8?2

[Question ID = 30847]

1. Disability is caused by the way society is organised, not by a person’s impairment. / faanTar fedt sufaa &t a1 T 71, T & 8= & adfe 9 gl 8|
[Option ID = 63383]

2. Impairments or differences should be fixed or changed by medical or other treatments / fafdreaT a1 31 Iu=Ri g &fa a1 mavel &1 dte a1 agar o
=I8T | [Option ID = 63381)

3. Society must focus on what are the shortcomings with the people and how they can adapt / SISl &1 019 &1 a1fet & safaqaif o @ &l g ok 39
&Y JHHierd HY | [Option ID = 63380]

4. Tt is impossible to cater to all requirements, and disadvantage is inevitable / 94t sTasad Tl & U1 ST sy &, auT dfeaan srafverd 81 [Option ID =
63382]

Correct Answer ;-
« Disability is caused by the way society is organised, not by a person’s impairment. / fa@anTar fordt safaa &t g1 § 781, IO & @6 & afle ¥
&Idl 81 [Option ID = 63383]

12) Which is true with reference to Sampling Error? It .............
Aee IR F TEH A P AT TT B2 TB.eerrrrerrenrns

[Question ID = 30828]

1. is an error that occurs inadvertently owing to raw data. / U8 Us Ut e & & &= el & &Rl 3 # €1t 81 [Option ID = 63307]

2. becomes progressively smaller as the sample size becomes larger. / WIfaia =0 ¥ SIeT id1 WTdl § oY =183 &1 HTHR dgal odl ¢! [Option ID =
63304]

3. becomes progressively smaller as the sample size becomes smaller. / wfaelid U 9 ge oAl % O ATeef &1 SR "edT S %I [Option ID = 63305]

4. has nothing to do with sample size. / 1SS 3THR ¥ $ 1 &1 7€l &1 [Option ID = 63306]

Correct Answer :-

« becomes progressively smaller as the sample size becomes larger. / Wiifasiier &0 § BieT €T STdT & O <1l &7 AR T¢al ol 1 [Option ID =
63304]

13) "“Towards an understanding of empowerment: A study of six women leaders” is an example of which type of research.

"ARIERISI0 Bt A Bt AR: T AfeaT Aa1si $71 qa-" U8 fFH PR & WY &7 IS8 82 [Question ID = 30832]
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1. Phenomenological research / YA =0 fasm =y [Option ID = 63323]

2. Survey Research / A& TNy [Option ID = 63321]

3. Ex-post facto research / ¥2-Ila? 2% (Ex-post facto research) [Option ID = 63322]
4, Ethnographic Research / TaTias= Y [Option ID = 63320]

Correct Answer :-
» Phenomenological research / U1 €549 ICEIRRIL] [Option ID = 63323]

14) Read the following statements about Null Hypothesis. Which one of these is correct?
Y TREern & e ¥ Faff@d aeg v Fafaf@e o § 19 91 $3= 98 82 [Question ID = 30830]

1. Tt is restricted to experimental studies only / T8 Fad TANTES T b ol W & [Option ID = 63315]

2. Tt is used to make judgments if the apparent differences in the sample are also true differences in the population / 3T IUUN 39 & TR Al o9 &
ferg +ft fasan Smen & fop =rel § udlta ©1 ¥@ siaR arafa® & a1 98l [Option ID = 63313]

3. It is directional / T8 f3<IT&® & [Option ID = 63312]

4, Tt is made to know the differences in the mean of the selected samples / T8 T4d TG # A & HaWal &I WA & fo1g §9191 91l & [Option ID =
63314]

Correct Answer :-
« It is used to make judgments if the apparent differences in the sample are also true differences in the population / 51 I s R Aol aa &
for ft foran wman & o6 =oreef o wefta €1 3@ sick aafas® & a1 78 [Option 1D = 63313]

15) Following is a list of topics suggested for research. Which among them is an example of experimental research?

Y & fore geme e fauat 9t ve Wi i & v 81 390 | wames Y &1 U IeTeR0 HiF 91 82
[Question ID = 30829]

1. Studying the experiences of teachers involved in adult literacy programme / Wi T1&Ral SwH H WEe e & Sgyal &1 38 S [Option ID =
63310]

2. Studying the effect of media coverage on the views related to the retest of a paper in the board examination of Class X / @&l X @I 918 THen & O Id W
g uRemr § Hafia faemd ox Hifgan srawur & guig &1 saa S [Option ID = 63311)

3. Studying the changes in the recommendations of various education policies since independence / Taaadl & aTg 318 fafia fRian ifedt &1 Rt o
ggardl 1 eIg HIAT [Option ID = 63309]

4. Giving detailed account of student — teacher relationships in a rural primary school of Uttaranchal / 3R=d & Uas gt urufie fEemea o farere-faremif
waelf &1 fawga 9o &A1 [Option ID = 63308]

Correct Answer :-

» Studying the effect of media coverage on the views related to the retest of a paper in the board examination of Class X / ®&f X DI gl U1 & Th
Ud UR QA URe ¥ Heftd fGari o @ifEan Siavu & UHIa &1 {99 &A1 [Option ID = 63311]

16) Which among the following statements is not appropriate for Research?
T & g Prafif@a & @ 919 1 sy 3fra 78 £2 [Question ID = 30824]

1. Research investigations are based on personal opinions. / STEYTH aafaTa g TR 31eMfed &1 [Option ID = 63290]

2. Research is a systematic, controlled, empirical and critical investigation of hypothetical propositions. / QﬁEL ufvaegqr ywrdl &1 Us E‘J’dfﬁm, ﬁfﬁﬁ'ﬂ,
SIYTET 3R He@qul offd &1 [Option ID = 63288]

3. Research is scientific in nature, / 3HT &1 W a9 8| [Option ID = 63291]

4. Results of a research are open to public scrutiny by fellow professionals / TiTe % GRUTH F12 U=ER] gRT WIdwl-d ofid & fo¢ Gal & | [Option ID = 63289]

Correct Answer :-
» Research investigations are based on personal opinions. / 3FEY SfaTd TG U TG & [Option ID = 63290]

17) A school is said to be following inclusive practice if:
U TS BT THIART WIS FT U S aTel BT ATl ¢ Tie: [Question ID = 30848]

1. Appropriate modifications are made in the school environment to ensure that students with special needs participate equally with other children in all
aspects of school. / faeme™ & e ¥ Sfad dxieq feu ord & @i a8 gfRfdm frm on o & oy snavgsar aret faemdf @ & ot uei & s s=at &
1Y THH ¥ ¥ YFT o & | [Option ID = 63386]

2. Students are prepared for placement in ordinary schools, where the onus is on the student to change and adapt to the school system / faenfal &1 s
faamergt 7 e & forw Sur frar ST €, et wod # soay & & (o fordigrt faenfifat @t 81t € [Option ID = 63385]

3. Students with special needs are given education in a specialized classroom where their needs are appropriately met. / faSi% aawaear arel fFenfial &1 ue
faery wem o e & S @ S8l I v &1 3fa 9 ¥ Q1 351 W11 81 [Option ID = 63384]

4, Teachers, students, administrators and other officials sit and discuss the various issues of education of students with special needs / fR1era, fammaif,

TS 3R 3 UGN G2y anawgsmar are faenfial & fien & fafim g8f w 99f 3 € [Option ID = 63387]

Correct Answer :-
» Appropriate modifications are made in the school environment to ensure that students with special needs participate equally with other children in all

aspects of school. / f&erTera & Aréta # Sfua wxite= fbu wmd § aifes g gAEd fsan o was s fawy sraxgedr aral faendf e & wt uah & s
=] & 91y GHH U F YT o & | [Option ID = 63386)
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18) From the given choices, which phrase will complete the statement? refers to inferring about the whole population based on
the observations made on a small part.

few e faweut # |, F19 1 aTHITY FYF B R BT 27 % B ¥ e W fpw e sraeteAl & Sy ur gt mardt & wefifd #ar 1
[Question ID = 30825]

1. Pseudo-inference / @1 3 HM [Option ID = 63292]

2. Inductive inference / HNTHATHE HJHH [Option ID = 63294]
3. Objective inference / I 3IH [Option ID = 63293]

4, Deductive inference / HTTHATE® 3 H™ [Option ID = 63295]

Correct Answer :-
« Inductive inference / HTTHATHSE AT [Option ID = 63294]

19) According to who, is the development of student’s will an important aim of education?

Fafafea & 3 fFa & sgar, faendf 3t g=o1 71 e fien &1 e weagui sExa @ ?
[Question ID = 30838]

1. Sartre / ESIGES [Option ID = 63346]

2. Freud / "THE [Option ID = 63345]

3. Skinner / f&5-1% [Option ID = 63344]

4, Vliygotsky / GrATIe®I [Option ID = 63347]

Correct Answer :-
+ Sartre / 9Id¥ [Option ID = 63346]

20) In hypothesis testing, a Type 1 error occurs when .......ccceenue

URHEAT UIE0r §, 2187 1 e 79 B 8 TF .oovveeeersnnseens [Question ID = 30831]

1. The null hypothesis is rejected even when it is true. / T & W i 9 TRS e SdiHR HX ol 9l g1 [Option ID = 63316]

2. The null hypothesis is not rejected even when it is true. / T 8 W i Y UREeaT REIER T81 &1 @t &1 [Option ID = 63317)

3. The alternate hypothesis is not rejected when in actual it should have been so. / ECARICRVEG TG RS CALY -‘-."Eﬁ P! ATt Hafd ardd ° ﬁ,ﬂT m ﬂTf%'Q YT
[Option ID = 63319]

4, The alternate hypothesis is rejected so that the null hypothesis can be accepted. / 3 TcU® TRGEIT SFEHHER H2 ot ot & alfd I URGeI WHR $i
O ¥ | [Option ID = 63318]

Correct Answer :-
« The null hypothesis is rejected even when it is true. / ¥ 8 U it Y7 UR&AT 3RdIHR FX & &1l 81 [Option ID = 63316]

21) Posteriori knowledge is:
grefraifi(Posteriori) T4 &1 &:

[Question ID = 30841]

1. Knowledge from the field of morality / feedT & &= & 9 [Option ID = 63357]

2. Knowledge related to mathematical relationship / 70T H&y | 9] ST 31 [Option ID = 63356]

3. Knowledge based on logical tautologies / @ifthar QASfaddi(tautologies) TR TR T [Option ID = 63359]
4. Knowledge based on experience and observation / 3f{Hd 3R e W 3nyfea JH [Option ID = 63358]

Correct Answer :-
« Knowledge based on experience and observation / 3 IHa 3R 3@aTH U MHIRA T [Option ID = 63358]

22) A teacher of Class VI asked her students to name a person whom they would like to sit next to, while working on a class project,
while having lunch or would like to invite to their birthday party. Result revealed that Ritu was the most popular one while Nita was the
last choice of the group members. What is this technique of study known as?

HET VI & T g 7 o= faenfial 9§ ve oF sfaa &1 1w &3 & forg o1 s a1y 3 $a Wisiae R &8 $d UHY 4691 918d §, I9e% &1 HieH
HAT TT8d & AT U AT B Ul § THET HI1 918 8 | uivomd & van =en F fig oy & gaw aiein 4 safe o w9 & vl ot snfent
wig | sreqg # g doIE S T e oGT 22 [Question ID = 30820]

1. Psycho-social linkages / HH-grafee Hati(Psycho-social linkages) [Option ID = 63274]
2. Sociometry / FHTSIATA(Sociometry) [Option ID = 63273]

3. Social gathering test / TTHISTER THT TLI&UI(Social gathering test) [Option ID = 63275]
4, Social matrix / TT=Id A (Social matrix) [Option ID = 63272]

Correct Answer :-
« Sociometry / FHMEHIA(Sociometry) [Option ID = 63273]

23) A researcher wishes to study the shared patterns of a group of individuals. Most appropriate method of study would be
US XYEal Afeadl & THE & g0 U &1 Ay $IA1 181 81 39 &1 Tad Iugad fafd &1 gHi? [Question ID = 30821]
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1. Survey / Fd&UT [Option ID = 63276]

2. Action Research / f5aT@@ 3HUT [Option ID = 63279]

3. Ex-post facto / He-1dR 3THUT (Ex-post facto research) [Option ID = 63277]
4, Ethnography / JaITa9 [Option ID = 63278

Correct Answer :-
» Ethnography / ﬂﬂ?@iﬂ? [Option ID = 63278]

24) Critical theories begin with the premise that men and women are essentially unfree and inhabit a world rife with contradictions and
asymmetries of power and privilege. Thus, Critical theories highlight

(i) power and knowledge relation

(ii) non-dialectical nature of reality

(iii) the relation of ideology and hegemony

(iv) hidden curriculum

HUTArE-T® fRAGid (Critical Theories) H1 YdUa & 6 qow IR Afgant sfard wu & 9y € ok vfdw 9 fAuier & fAteryrst oir fRuawarsi
¥ o fay & T8 8| weTeaTeS Rigid (Critical Theories) & @ fig @ -

(i) TfeRT 3R 91 way

i) areIfaear @ R-fgueia vy

(i) faemumT iR wrem=ger &1 frzan

(iv) @it g% ureT=at

[Question ID = 30857]

1. (i), (i), (i) (iv) [Option ID = 63423]
2. (i), (ii), (iii) [Option ID = 63420]
3. (i), (ii), (iv) [Option ID = 63422]
4, (i), (i), (iv) [Option ID = 63421]

Correct Answer :-
= (i), (iii}, (iv) [Option ID = 63421]

25) Fill in the correct option that completes the following sentence:

Yemmssmccsscssecee--------- '’ refers to a kind of research that takes the perspectives and interactions of members of the social groups being
studied seriously. It is based on the premise that social reality can be understood through the rules which structure the relations between
the members of the group and which make it possible to interpret their actions, gestures and words.

frafafaa area ®1 g $1 & forg @& faweu 97

e, | QS U XY Y WA BT § WY S AT ST W@ WA wiEl & awil & uRiley iR aradta &) mifivar & dar d
Tg MY &1 qdues 8 fo5 armnlore arafasar ot 3 Frawt & ared & wagn o 96 € ol 99 & Gl & dig Gaul &1 §fed $edl ¢ 3R 39
H1al, Hebdl 3T Weg] 1 TSI HIAT YT 471 2

[Question ID = 30822]

1. Ethnography / Ta=If@3m [Option ID = 63281]

2. Interpretative / RATHSD [Option ID = 63282]

3. Intersubjective / 3{tR-fd9g® [Option ID = 63283]

4. Phenomenology [ 91 ©54 fag (Phenomenology) [Option ID = 63280]

Correct Answer :-
+ Ethnography / Ta=Ifds [Option ID = 63281]

26) Deaf-Blind children may have problem in writing due to
TRR-AFEH o=l & ffrE A gre S awe | ?

[Question ID = 30849]

1. attitude of peers / | &1 I4aT [Option ID = 63391]

2. low intelligence / FH g@ [Option ID = 63390]

3. vision impairments and difficulties with eye-hand coordination / #=-81-d1 iR 3@- B4 ¥H-<GY Wa+! HG184d1 [Option ID = 63388]
4, non-availability of proper writing facilities / 3fId @@ ﬁfa”‘iﬂaﬁ @1 A1 8141 [Option ID = 63389]

Correct Answer :-
« vision impairments and difficulties with eye-hand coordination / <3-EIaT 3R 37@- g1 FH-ag e+ Hie-T$a1 [Option ID = 63388]

27) In the case of threat to validity, establishes the validity of inferences drawn about the cause and effect relationship
between the independent and dependent variable.
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duar it gHlfaal & anrd #, WA ST i TR & o RO 3R TUTE & Hay & AT B derar RiTfud et 8 |
[Question ID = 30827]

1. Statistical conclusion validity / Tif@ae g fssd dear [Option ID = 63300)
2. Construct Validity / Afur d&=T [Option ID = 63301]

3. External validity / STt &l [Option ID = 63303]

4, Internal validity / 3fidi® 34T [Option ID = 63302]

Correct Answer :-
« Internal validity / 3/Tdf¥@ Je@T [Option ID = 63302]

28) Karl Popper, in the Logic of Scientific Discovery, proposed '----------------" rather than ‘verifiability’ as a criterion of the meaning of
scientific statements and theories.

Ao 3w ATsfefeed f&wFad (Logic of Scientific Discovery) H ®Tel TR A ayfA® aaded 3T frgial & ord & ads & w0 § wau=ar
(verifiability)' & THTG '~=====n===-=----' Y&ATIad f&ATI [Question ID = 30846]

1. Falsifiability / fereda (Falsifiability) [Option ID = 63376]
2. Objectivity / FTEI&faTaTE (Objectivity) [Option ID = 63378]
3. Subjectivity / fTeTaaI(Subjectivity) [Option ID = 63379]
4, Validity / du@l(Validity) [Option ID = 63377]

Correct Answer :-
« Falsifiability / fiegn (Falsifiability) [Option ID = 63376]

29) Surveys are used for a wide variety of purposes. Which of the following is not appropriate about Surveys?
Hd&ror &1 Iua fafis R & Iezal & fore famar wiran 81 FufafEs & 9 19 o1 9damr & an o 3fa 981 82 [Question ID = 30818]

1. They delineate the reasons for particular practices / @ faSiy uut3ff % HRUN & fA=d HId & [Option ID = 63265]

2. They describe the frequency of demographic characteristics or traits held / d Swifersly fagsaraii ar Tlﬂﬁ Ed| &I'Iﬁﬁ:l %1 Ui Hd %’ [Option ID = 63264]
3. They explore relationships between different factors / & fafifs &Rl & i Feul &1 a1 H¢d € [Option ID = 63266]

4, They give in-depth understanding of a particular case / 9 U fa2i WA (case) H1 e ¥ THH §41d & [Option ID = 63267)

Correct Answer :-
« They give in-depth understanding of a particular case / § U5 32 S (case) H1 Tee § A §-1d € [Option ID = 63267]

30) The term used to describe the act of researcher’s suspension of preconceptions and learned feelings about a phenomenon is called:

ydemegnait 3R B g1 & an # At 18 yranait & e @1 avf w39 & e 3199 ® : [Question ID = 30837]

1. Flexible designing / er=iten f&wg(Flexible designing) [Option ID = 63341]
2. Bracketing | saRfeT (bracketing) [Option ID = 63342]

3. Axial coding / 31810 SITET(Axial coding) [Option ID = 63340]

4. De- briefing / 1-s1fth71(De- briefing) [Option ID = 63343]

Correct Answer :-
+ Bracketing / ¥&1cT (bracketing) [Option ID = 63342]

31) Assistive technology devices
WETa® Welifira! Juseor

[Question ID = 30855]

1. are devices that improve functional abilities of individuals with disabilities / T8 Ju&xur ot fadaiT safdaal @1 HEiers emarst § GuR @1 g [Option ID =
63414]

2. are devices which do not consider the specific requirements of individuals with disabilities / d JUFHI] % o1 fasai safgad &t f&f&rg ATl U &=
el 22 & [Option ID = 63412]

3. are devices that have a specific definition worldwide which guide medical and insurance related decisions / & SU&U forme! giHar W o U@ fafke gfoume
2, ot fafdrer iR offar SEeht Fofaf &1 anfasi= &=l @ [Option ID = 63415]

4. are not useful for individuals other than individuals with disability / fdeeiT suféadl & aramar e safaaal & forw Iaantt =&t & [Option ID = 63413]

Correct Answer :-
« are devices that improve functional abilities of individuals with disabilities / T8 IU@Ur ot f3der safaaal st eafers emars ¥ GUR o1 € [Option

32)

collegedunia:s

India’s largest Student Review Platform




Match the items in List I (Sources of Literature Review) to those in List II

......

(Descriptors).

List I(Sources of literature review) List II(Description)

I Encvclopaedia (i) A long essay on a particular subject
especially one written fora
universitv degree

II ERIC (ii) Information on many subjects or on
many aspects of one subject mostly
intended to provide readyv reference

I1I Journals (i) A periodical published by a
specialized group having research articles

IV Dissertation (iv) Online digital library

AT 1 (A2 THT=T % H19) & 22w J g1 11 (F0ama1)h AZeqd Bl 9 Hil

CEIPNGUERELIEIE =160 gAT 11 (@950

ISEECEL () @ efE=meg & B % & @6y
farwg uz o 197 us &ar ey

11 Z 1T 5113 dT(ERIC) (i) F2 fa94T a1 uF fA97 & %2 ugeE 9w

I1I 59 (Joumnals) (iii) T A9T g9 U TF AaE® TR
HATHGTT A@] BT dheA

IV &Y 979 (iv) ST fEfoes eas=g

[Question ID = 30815]

1. 1 - (ii), I — (iv), 11 - (iii), IV — (i) [Option ID = 63253]
2.1 (i), I1 = (ii), I1I - (iii), IV — (iv) [Option ID = 63252]
3. 1= (iii), 1L - (iv), IIT — (i), IV — (ii) [Option ID = 63254]
4. 1 - (jii), I1 - (i), 111 — (iv), IV - (ii) [Option ID = 63255]

Correct Answer :-
o 1—(ii), I1 - (iv), III — (iii), IV — (i) [Option ID = 63253]

33) With reference to data collection, ‘triangulation’ means:
o 9Ugul & HeH A, TAYSHS (triangulation)’ &1 314 §: [Question ID = 30816]

1. Collecting data from three sources only / &ad di= Fidl ¥ g0 U8 H [Option ID = 63256]

2. Collecting data from two or more than two sources using varied methods / fafirs faferi @1 IuarT &3 & a1 31 ¥ sfds |idl 9 g1 S S [Option
ID = 63259]

3. Using quantitative and qualitative methods of data collection / &1 TUg & AT R TUTES diie] &1 SUGN HA1| [Option ID = 63257]

4. Using primary and secondary sources of data collection / &% T9g & WyfHe 3R Hreafid Widl @1 IUUNT &A1 [Option ID = 63258]

Correct Answer :-

+ Collecting data from two or more than two sources using varied methods / faftra fafiral &1 Iugr 3 a1 a1 31 9 fde Hidl d g9 UshHEd e
[Option ID = 63259]

34) For a study, all Grade 8 students of a local school from the North-Eastern part of India were included. A questionnaire was
administered to all eighth graders who were present on a Wednesday. The sample drawn is a:

TS HT & g, URd & Iw-udi v @ =ity e & wan 8 & @it fRenfiat &) wnfira fasar mar | guar &t gufRua smadl wan & wift
farnfial &t ve wenaeht & v | g T et A | @ frweT IgmeRwr

[Question ID = 30812]

1. convenience sample / gfdurs@ a1 [Option ID = 63242]
2. representative sample / BfafAfEr =oTgf [Option ID = 63241]
3, stratified sample / &if¥d &g [Option ID = 63240]
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4, random sample / TTEfa3& TGl [Option ID = 63243]

Correct Answer :-
» convenience sample / ﬁﬁﬂ'l\_rl:ﬁi el [Option ID = 63242]

35) A sample of 50 students was taken randomly from the university and it was found that these students spent Rs.1400 on an average
on books throughout the year. The standard deviation of spending is Rs.130. Which of the following is a 95% Confidence Interval for the
amount spent on books ?

fayferemera @ 50 ot &1 v el grefese wu A forar mar 3R g8 urar man & 54 faenfifal | are wr faet o siaas 1400 vua @ fvwl @
&1 A faga 130 3L 81 TEad! U @ 1 7 i F forg 377 F F19 11 95% fAYr sieRTe(Confidence Interval) 8?2

[Question ID = 30836]

1. Rs 1400 + Rs. 130 or [1270, 1530] / 1400 ¥ + 130 ¥ TI [1270, 1530] [Option ID = 63336]

2. Rs 1400 + Rs. 7.07 or [1392.9, 1407.07] / 1400 % + 7.07 & U1 [1392.9, 1407.07] [Option ID = 63339]
3. Rs 1400  Rs. 18.38 or [1381.6, 1418.4] / 1400 ¥ + 18.38 & 47 [1381.6, 1418.4] [Option ID = 63338]
4. Rs 1400 # Rs. 36.03 or [1363.9, 1436.03] / 1400 ¥ + 36.03 ¥ TT [1363.9, 1436.03] [Option ID = 63337]

Correct Answer :-
« Rs 1400 + Rs. 36.03 or [1363.9, 1436.03] / 1400 ¥ + 36.03 ¥ T7 [1363.9, 1436.03] [Option ID = 63337]

36) An investigator conducted Factor Analysis of tests used in research. S(he) is trying to establish........
TS INUEAl - SHYUTH & URIEUT BT FRE [T (Factor Analysis) foFaT | a8 @1 ®ifia 31 argarn /918t 82 [Question ID = 30814]

1. Predictive Validity / 3/H1f<d &1 [Option ID = 63251]
2. Construct Validity / 01 de@r [Option ID = 63250]

3. Criterion Validity / A& 4T [Option ID = 63249]

4, Content Validity / fawa a%g 3T [Option ID = 63248]

Correct Answer :-
« Construct Validity / fmfor 3t [Option ID = 63250]

37) A sentence is factually significant to any given person if and only if s(he) knows how to verify the proposition which it purports to
express. That is, if s(he) knows what------------—--------=—---—----------———-—-—- would lead him/her, under certain conditions, to accept the
proposition as being true, or reject it as being false.

Which of the following words completes the statement?

oI5 arey et safda & fog awras eyl A wiran € afg safe ag wian 2 6 99 area & wwara & aanfua &9 foear o gear 21 syfa, orr
T8 ST @ P - vomemmmmneeccneeeees 6 Ul & a8, 39 HEl AP WHR B & forg §Ra S0, T1 I Tord A SR B33 & forg Wfa s
|

Frafafes & & oF w1 I oy W sl g:
[Question ID = 30840]

1. Conclusions / A [Option ID = 63355]

2. Statements / Y- [Option ID = 63353]

3. Arguments / & [Option ID = 63352]

4. Observations / 3f@li@ [Option ID = 63354]

Correct Answer :-
+ Observations / @i [Option ID = 63354]

38) 'Threats to reliability’ in an achievement test with respect to examiners and marking can be attributed to:
I: errors in marking.

II: inconsistency in response of the students.

III: inconsistency in marking within the same response sheet.

IV: inconsistency in marking among different examiners.

TS Iuted NI ® Uil 3R i & way H Tywa-taan &t getfaai * f6=-fe= @t aoie ¥ 8 aodt 82

I: 3w 7 Ffewi|

11: faenfidal & So=i & srdvraan|

III: U% 81 3o YRaeT & ier s & sriraani

1v: fafirm wferst & da sie # sRiITTaaT| [Question ID = 30813]

1.1, III & IV / I, ITI 3fRR IV [Option ID = 63247]
2. 1&I1/1 3R II [Option ID = 63244]

3.1, 11 & IIT / I, II 3% 111 [Option ID = 63245]
4,1, 11 & IV / 1, TI 3fiX IV [Option ID = 63246]

Correct Answer :-
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« I, III & IV / I, III 3% IV [Option ID = 63247]

39) What does the term ‘co-morbid’ denote?
HE & (P Hifds) T Fu1 aread 82

[Question ID = 30851]

1. Co-morbid denotes a condition that can appear independently and have a detrimental effect on performance / Tad ¥0 ¥ f&@ms &7 ardl U uRfRfd g,
it &1 e W giR@ e uMTE STe bl € [Option ID = 63396]

2. Co-morbid denotes a disability condition which occurs from birth / T& Bt ufRfeufa off 977 ¥ UT$ et & [Option ID = 63399)

3. Co-morbid denotes a disability or condition that may co-occur along with another disability or condition / T U 3eawT 31 g2 o ol IR IEawT a1
29 & WY Url o Hehd! & [Option ID = 63397]

4. Co-morbid denotes a cognitive impairment that can shorten lifespan / Ueh Ut UFTETS SH&HdT &t Silg- ®Te S1 U] Gbdl & [Option ID = 63398]

Correct Answer :-

« Co-morbid denotes a disability or condition that may co-occur along with another disability or condition / Tes Tt Sreqaey a1 23 oif fahdt ofiR sregawy
a1 G F WY gRA & Wt § [Option ID = 63397]

40) Curriculum planning at any level of education should include the diverse socio-personal experiences of the students because:

fren & fedt oft TR W ureuayt giw | faenfial & fafay arnfores-safeaa spye fde fd o aifde, #9if%: [Question ID = 30844]

1. It is significant for engaging them with new ideas and ways of thinking. / 378 ¢ fdaRl 3R Tl & Ti®! ¥ wite & oL I8 "e@yul g1 [Option ID =
63368]

2. The students are not interested in learning anything else other than their own ideas. / fa'ﬂTffl'Eﬁ ¥ g+ faemri & sremar ET] 3 drEe 31 5[ ?E?f gTﬁ %I
[Option 1D = 63369]

3. Parents and communities are against including experiences other than that of their own community. / 3fHYTaS 3R THETT & @1 AT JHET & Hal
& AT = HaA! DI IMHT FH & FEAE &1 [Option ID = 63370]

4. It is important to appease the communities for the purpose of gaining votes. / gie Uit i & G%'QH q ?El'f'j,'&Ti?f Bl LECURECE]] ﬂﬁ'&fﬁ[ﬂf %I [Option ID =
63371]

Correct Answer :-

« Itis significant for engaging them with new ideas and ways of thinking, / 3% =TT faaR| 3R Tie= & adt®! ¥ Sis+ & forw gg weayol 81 [Option ID =
63368]

41) Which of the following studies is an appropriate example for conducting a pure quantitative statistical analysis :

fFafafea § ¥ S 971 3wy s AETEe Hirere g faauu $37 & f ue 3uged IS8 8: [Question ID = 30826]

1. Understanding what it means to students to have their project displayed in science exhibition / 98 THe1 f& fagm wesit & st ufater vefdfa g &
faenfifl & forg @ wew@ & [Option ID = 63298]

2. Study of nature of students’ interactions in a cooperative lab class / Ud Teanft vanTer-san o faenfifal 1 ara<ia &1 ',"I'q?f?{ &l HEY [Option ID =
63299]

3. Study of relationship between students' attitude towards science and their achievement in the subject / faenfifal & fagm & ufa sfigfa sik sw fawa o
3ot SUated & HedsHl &1 3ea [Option ID = 63297]

4. Study of understanding the shared beliefs and practices of science teachers in a rural school in Odisha. / Jifgen & gt ey § fage & el &t
TS "t SR TS B TS B S| [Option ID = 63296]

Correct Answer :-

« Study of relationship between students' attitude towards science and their achievement in the subject / faenfdial & fagm & ufa siftafa sz 39 fawg
o 39t Il & GeHa] &1 3HeTT [Option ID = 63297]

42) Which of the following is a central theme of existential therapy?
frafafea & & o= w1 aifSra ffeen o1 ge $d fwg 82 [Question ID = 30845]

1. Neuro-linguistic programming / HTg -HTSTS WIATET [Option ID = 63374]

2. Authenticity / UTHTOIE T [Option 1D = 63375]

3. Uncovering childhood trauma / ¥ & 3THTd &1 ISR &1 [Option 1D = 63373]
4, Behaviour modification / SId8R TuIEH [Option ID = 63372]

Correct Answer :-
» Authenticity / T [Option ID = 63375]

43) Which of the following may not come under the purview of metaphysics?

frafaf@a & @ o= a1 awdiara & gy & 781 3mar 82 [Question ID = 30842]

1. Being / 19 & ATd [Option ID = 63361]

2. Reality / Gridear [Option ID = 63360]
3. Existence / 3{f%Id [Option ID = 63363]
4. Knowing / SITH-T [Option ID = 63362]

Correct Answer :-
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» Knowing / ST [Option ID = 63362]

44) Which of the following teaching methods would be considered as most appropriate if you wish to apply Vygotsky’s notion of ‘Zone of
Proximal Development’ in the classroom?

gfe 3y FH& H argTieae! B YR WU AT &' & an $3-1 91ed &, af 7 # & &= It fRrgror faft w=w sfea writ smaft? [Question ID =
30860]

1. Individual learning project / SafaaTd 3EFTH UGS [Option ID = 63432]
2. Competitive games / Uferaaeff @ [Option ID = 63434]

3. Peer tutoring / |TFTT GIRT 747 [Option ID = 63433]

4, Group activities / g Tididafedi [Option ID = 63435]

Correct Answer :-
» Peer tutoring / feat grRy fRren [Option ID = 63433]

45) Which of the following is unrelated to Carl Rogers’ work on ‘Personality’?

frrafaf@a & & o149 91 F1e Aol F 'aafeda’ W) F1H | Fafid T8 82 [Question ID = 30859]

1. Q-Sort / F-HIC (Q-Sort) [Option ID = 63430]

2. B-motives / &i-HieTd( B-motives) [Option ID = 63428]

3. Self-actualizing tendency / 3T&f&fE Uafi [Option ID = 63429]

4. Organismic valuing process | H8ATHS n;mﬁ?aw ufesan {organismic valuing process) [Option ID = 63431]

Correct Answer :-
« Q-Sort / F-HIE (Q-Sort) [Option ID = 63430]

46) Which of the following is not correct about the qualitative —quantitative debate?

U -HIATAT® 969 & aR & fFrafaf@d § @ #1991 98 781 £2 [Question ID = 30817]

1. Positivism deals with what is observable and measurable in understanding the phenomenon. / T&dTE Te-1 &1 THgH H 3fadied 3R A1 ueshl &
1Y TIUHR @1 ¢ | [Option ID = 63263

2. Positivism applies to quantitative methods only. / TRI&@TE dde AT Al O @I 8fa1 g1 [Option ID = 63262]

3. Qualitative researchers often do not recognise positivism as the epistemological basis of their work. / TUITH$ el 3aR Tedlg &1 U &1l & ferg
T 3R % =0 & 78 Ugad €1 [Option ID = 63260]

4, Quantitative approaches have become synonymous with statistical methods, / ATATE® JURTH Hifgs g aiie! & Uafg @5 T 81 [Option 1D = 63261]

Correct Answer :-
» Positivism applies to quantitative methods only. / Ud&dlg $had HETHS [aiegf o Elﬂl‘EﬂHT 2l [Option ID = 63262]

47) Right of Persons with Disability Act, 2016 mainly focuses on:
fregiman siftre sifuffram, 2016 F&IG: .vcvcveeecreenrenes TR Hsd g2

[Question ID = 30852]

. Removing the shortcomings of PwD Act 1995 / Ut gse 1 fafan 1995 &1 &gl &1 g2 [Option ID = 63400]

. Assuring the safety and security of persons with disability / fdaeiiT safeal @t gemadt 3R gRan ffEa &3 [Option ID = 63401]

. Reducing the number of disabled population / 3T 3TaTal &t BT H FH H [Option ID = 63403]

. Implementing the UN Convention on the Rights of Persons with Disabilities / fa@rai afdaal & @RI W Wgad AF T HI HaTed &3 [Option ID
= 63402]

W L R

Correct Answer :-
» Implementing the UN Convention on the Rights of Persons with Disabilities / fd@raivT sufedal & Rl W ¥ Y EHTH 61 Halferd $3H [Option
ID = 63402]

48) Dyspraxiaisa
(Dyspraxia) &1 82 [Question ID = 30854]

1. Problem regarding coordination / §H-99 & Wt &1 YU [Option ID = 63411]

2. Problem in mathematical calculation / TIOTTT 70T &t THWT [Option ID = 63409]

3. Problem of language perception or thought / HTST ¥RUN 7 fd9R &1 9 [Option ID = 63408]
4. Problem of intellectual disability / difg® T & gawn [Option ID = 63410]

Correct Answer :-
« Problem regarding coordination / S99 & Ha¥ @1 WHWT [Option ID = 63411]

49) According to Bourdieu's theory, which of the following best describes capital?
dIf$3 & Rrgia & qaR Frafafea # & $19 a1 gl &1 3ftra ¥ & afofa $a1 & 2 [Question ID = 30839]

1. Socio-cultural and economic resources whose distribution is the responsibility of the state and whose deployment figures centrally in the reproduction of

that structure. / STHTRTS-Tigfad 3R e Gare foma Ao @t Rrher s #1 8 R et 39 siee 39 @vam & grsae 8 &da ¢
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[Option ID = 63350]

2. Socio-cultural and economic resources whose distribution is the responsibility of the state and whose deployment figures centrally in the education system.
| wmiE-Hisfas ok sfdfe dwrem fme faaw @t Rrdierd s 1 8 3R et darh fRren womeh & $fa 81 [Option ID = 63348)

3. Socio-cultural and economic resources whose distribution construe the social structure and whose deployment figures centrally in the education system /
grTfoT- g fa® 3R anfife dameq fome faavo gmfee gvamn &1 Fafor #3a € ok et a-meh fren yome & $fea & [Option ID = 63349]

4. Socio-cultural and economic resources whose distribution construe the social structure and whose deployment figures centrally in the reproduction of that
structure. / TATFSTE-Hipfa® iR e waree s faavor arfore Semn & o e § ok et oardt 39 W1 & geane # $did g1
[Option ID = 63351]

Correct Answer :-
» Socio-cultural and economic resources whose distribution construe the social structure and whose deployment figures centrally in the reproduction of

that structure. / STHIFTG-HiEp e 3R e Gwy= S e e wxe &1 Faf &d § ok et A 39 91 & oaed § dard
21 [Option ID = 63351]

50) Paulo Freire’s thought represents / TI3@! 1Y & faar fraer ufefaifiea o &
[Question ID = 30843]

1. Self-realization / &HF?GIEI,‘;I]?T [Option ID = 63366]

2. Sensitive conscience for suffering of oppressed / Tifdl @1 dieT & forg Yag-=fia fad® [Option ID = 63365]

3. Constructivism and sensitivity for environment / qafaRo & ferg dvaraTean 3R HagAierd [Option ID = 63364]
4. Moral Education / 3fcr® 21871 [Option ID = 63367)

Correct Answer :-
« Sensitive conscience for suffering of oppressed / Hifgdl 1 tte1 & foru Yag==fia fads [Option ID = 63365]
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